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Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. All questions carry equal marks.

Q.1) What is communication? Explain the various components of communication. (15)

Q.2) What is listening? Explain its types and barriers, : (15)
OR A : :

Write a notice, agenda and minutes of the 72" AGM of Shah Textile Industries. (15)

Q.3) a) Answer the following: (Any 2) - : & (15)

Explain the need of translation:skills in journalism.
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c) Why is it necessary for a communicator to avoid jargon?
d) How can one achieve fluency in reading?
Q.4) You are applying for the post of a copy writer in an advertising firm. Write an application letter and (15)
bio data for the same.
OR
You have been noticing an increase in the number of beggars in your locality. Write a letter to an (15)
NGO of your locality drawing their attention to this growing menace.
Q.5) Write short notes. (Any 3) (15)
a) Methods of communication
b) Functions of reading
) Editing and summarizing
di Error of thinking
e
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